Mathematics 10D

Q.05 – Completing the Square

Mr. D. Hagen

$$(x+3)^{2} = (x+3)(x+3) = x^{2} + 6x + 9$$

$$(x+5)^{2} = x^{2} + 10x + 25$$

$$(x + 7)^2 = x + 14x + 49$$

$$(x - 4)^2 = x^2 - 8x + 16$$

$$(x + 17.5)^2 = x^2 + \frac{35}{35}x + \frac{306.05}{35}$$

Convert from Standard form to Vertex form by completing the square, then state the vertex.

$$y = (2)x^{2} + 12x - 5$$

$$y = 2(x^{2} + 6x + 0) - 5$$

$$y = (3)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2} = (4)^{2}$$

Let's do another!

$$y = \frac{-5x^{2} - 40x + 71}{-5}$$

$$y = -5(x^{2} + 8x + 0) + 71 \qquad \left(\frac{8}{3}\right)^{2} = (4)^{2} = (6)^{2}$$

$$y = -5(x^{2} + 8x + 16 - 16) + 71$$

$$y = -5(x^{2} + 8x + 16) + 71 + 81$$

$$y = -5(x + 4)^{2} + 151$$

$$\therefore (-4, 151) \text{ is the vector}$$

What happens when a is a fraction?

$$y \neq \frac{1}{2}x^2 - 5x + 14$$

$$y = \frac{1}{2}(x^2 - 10x + 0) + 19$$

$$y = \frac{1}{3}(x-5)^2 + 1.5$$

 $(5)^2 = (5)^2 = 25$

Uh oh, we have decimals! No worries!

$$y = \frac{2.84x^2 - 8.23x + 5.4}{2.89}$$

$$y = \frac{2.84(x^2 - 2.9x + 0) + 5.9}{5} = \frac{2.93}{5} = \frac{(1.95)^2}{5}$$

$$y = \frac{2.89(x^2 - 2.9x + 2.1005) + 5.9 - 5.97}{5}$$

$$y = \frac{2.89(x^2 - 2.9x + 2.1005) + 5.9 - 5.97}{5}$$